RS ELEP

3 gasl) Q\J#SM

ol

2(9x — 4x%) — 2% + 3x° — Tx?

4(2)62 — 5x) + X+ T = 5x°

3x% + 3x+ 5x— 4(6x — x3)

3+ 7 + 2(5x + 5x2) — 6x°

Sx— x> =7+ 2(7x + 3x2)

Al

46 + 6 —x° - 4(x3 + 5x)

8x° — 6x° — 8x — 4(7x3 — xz)

3(7x3 + 2x) + 8x + 5 +x

8 — Tx+2x% + 3(x3 — 9x)

6x° — 9x% + 9x + 3(4)63 + 5x3)
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RS ELEP

3 gasl) Q\J#SM

ol

2(9x — 4x%) — 2% + 322 — T
—14x% + 18x

42x° — 5x) +x2+ T = 5x°
23 + 9% — 20x

3x% + 3x+ 5x — 4(6x—x3)
43 + 3¢ — 16x

3+ 70+ 2(5x + 5x2) — 6x?
10x° + 407 + 10x

Sx— x> =T+ 2(7x + 3x2)
~7x + 5% + 19x

Aagull NGBS

43+ 6x° —x° - 4(x3 + 5x)
5x° — 20x

8x° — 6x° — 8x — 4(7x3 — xz)
—20x° — 2% — 8x

3(7x° + 2x) + 8x% + 5% +x
26x° + 8¢ + Tx

8x— Tx+ 2% + 3(x3 —9x)
3x° + 2% — 26x

6x° — 9x% + 9x% + 3(4x> + 5x°)
33x°
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